GROUP EV

Revision : K-2987-C Exploded View : EV GP7500E CONTROL PANEL
Date : 5/28/15 Page 1 of 2 Drawing No. : 0L1692



EXPLODED VIEW: EV GP7500E CONTROL PANEL

DRAWING #: 0L1692

GROUP EV

ITEM PART# QTY. DESCRIPTION
1 0K8861 1 WLDMNT FACE PLATE GP7500E CSA
2 0K3130 4 SCREW PPPH M5-0.8 X 16 BZC
3 0G8758 1 OUTLET 30A 120/250V SPCGR
4 077043V 2.2FT CONDUIT FLEX 1/2"
5 0E6480 6 NUT HEX LOCK M4-0.7 NY INS
6 0J0251 1 SW START-RUN-STOP GP
7 0G9392 2 COVER, 20A 120V GFCI/DUPLEX
8 0G9756A 1 RECPTACLE PANEL STORM-GEN ES
9 0H0265C 2 CB 20A 1P CUL/CSA
10 0A5489 2 SNAP BUSHING.75 OPEN
11 0G9391 1 COVER,30A 120/240V
12 081797 4 WASHER LOCK #6 SS
13 0G9023C 1 CB 0030A 2P 240V C AA2 QT
14 036900 4 SCREW PPHM #6-32 X 1/4
15 0J4959 1 ASSY 12VDC CHARGER INPUT GP
16 0F5883A 4 WASHER FLAT M3.5 BLACK
17 0D4966 2 OUTLET 20A 120V GFCI GF20BK
18 043180 6 WASHER FLAT M4
19 0G8321 1 HOUR METER W/ALERTS AC/DC

REVISION: K-2987-C
DATE: 5/28/15

Page 2 of 2



